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1. ﬁwmﬂmﬂaﬁm@mmﬁﬁf

UNIT—I

{ Main Courses of Indian History )

FhRRe 7

Which Governor-General abolished
the practice of Sati?

{a) 6 FEa ]

Lord Curzon

(b} =76 fom [
Lord Ripon

) =16 e O
Lord Cornwallis

{d) =6 B3fem @fbses O

Lord William Bentinck

TROW WIOW FTARI A4 TSI (I
wifee ¢

Who was the first President of the

Indian National Congress?

(a) o vy @t O

Womesh Chandra Bonnerjee

(b) &t @5 [

Annie Besant

c} 6 uRYE [}
‘Lord Irwin

(d) etk enee [
Dadabhai Naoroji

/254.-B

3. e P afdere witer

The Muslim League was formed by

(o) 5w ofe R O
Muhammad Ali Jinnah

(b) TR vEEE [

Nawab Salimullah

o) mEmmy O

Syed Ahmad Khan

{d) ﬁw—%ﬁ—@m i

Siraj-ud-Daulah

G BRI 50w e LA @ TS ?
The Chauri Chaura mC1dent took
place in .

@ ssxe O
1923

(b) ssxe O
1925

¢ »»xa O
1927

{d} 53} O
1922

5. WWC@‘T%@WW

Who of the following was an Indus
Valley deity?

(@ B O

Vishnu

{b) et [

Pashupati

@ o O
Durga

(d) ¥ O
Kali

WW@WW%W&?{?

How many - Maha_]anapadas were
there in ancient India?

@ >e O
16

b O
28

€ xx O
22 '

{@ e [
25

/254-B

7. WO AL AP (I IR 7

Who was the first ruler of Magadha?

@ Rfem O

Bimbisara

() xex U
Brihadrath

(¢ wifem O

Bhattiya

(d) vaeg ¢y O
Chandragupta Maurya

TR, (PP ST ) [T
SRS g9 FRMRE 7

Megasthenes visited India during
the reign of which ruler?

(@) vRed Y [
Chaﬁdragupta Maurya

() sty O

Kanighka

(0) TEeY O

Samudragupta

@) e [
Ashoka

[ P.T.O.



9. QR AT (F i 7

Who was the founder of Buddhism?

fa) AR

Mahavira

m) e O
Ashoka

() e [

Bindusara

(@ eggm [
Gautam Buddha

10. e (Fmch (dm o o 721 2

Which of the following was not a
sect of Buddhism?

fa) FF= O

Hinayana

b} s [
Mahayana

c} cemEm [

Theravada

(@) Fogs [

Digambar -

/254-B

(BT (FREW OIS HIfde 2

How many Tirthanksras did the
Jains have?

@ o [
20

(o) o [
10

c) o8 [
34

() xg []
24

2H

The Jain texts which contain the
biographies of Tirthankaras are
known as

fa) =% =[@e
Adipirana

) wee L]
Jataka

(c) =r@e g [
Bhagwati Sutra

(@ e [
Kalpa Sutra

R R g

13, f#l premes Al @ i 2

Who was the founder of the Delhi
Sultanate?

fa) wreeim Refe O
Alauddin Khalji

M) IRT [
Babur

g Feimm wizee [

Quib ud-Din Aibak

{d) s
Balban

g AREBY Y @ TS ORAS
t2feet ? |

In which year was the First Battle of
Panipat fought?

{a) sexe ]
1523

(b} sexe [
1525

(c) sexs []
1526

() sexs [
11529

/254-B

16.

18. fifA oM IoF NG W TR

& =R ?

Who was the only female ruler of the
Delhi Sultanate?

(@) TR =9 O

Queen Phuleswari

fb) i perort [

Razia Sultana

{c) ?ﬁw O

Rani Laxmibai

{d) aﬁﬁ°ﬁﬁﬂ 1
Rani Padmini

ﬁw>3>3ﬂﬁ§ @ T PR S

_iﬁ%&ﬂ?

Which Mughal emperor introduced
the Din-i-lHahi ? :

(@ T L
‘Humayun

) " [
Akbar

¢ maar U
Sher Shah

(d) sfR [
Jahangir

[P.T.O.



17. R GRS 5T @ I SR 2

18.

- Who was the eldest son of. Shah
“Jahan? -

(o) 3w U
Murad Baksh

(b) e
Aurangzeb

c ™ U

Dara

@ x= O
Shuja

2R-AIA CAR SR

Humayun-Nama was written by

(a) wFm 7 oy [
Gulbadan Banu Begum

() e e [
Mumitaz Mahal

g waw O
Noor Jahan

(@ wemaw O
Ahilyabai

/254-B

19. '3 T (I OPR ToARF St ?

20.

To which country did the Medieval
traveller Ibn Battuta belong?

@ &= [

France

m) TE O

Italy

fo wwa 0O

Morocco

(@) Tw= L]

Iran

s STIEd AR (I iiEE 7
Who founded the Brahmo Samaj?

.(a) e g L

Dayananda Saraswati

b) TN Rz 1

Swami. Vivekananda |

{c) s
Kabir

() e e 9w L
Raja Ram Mohan Roy

210

22,

UNIT—II

{ Indian Polity and Human Rights )

AGTREE RN TH WP [P I
Fo s ?
Where is the Headquarters of the UN

High Commissioner for Refugees
located?

(@) aga [

London

m) s [

Paris

(o) cmwer [

Geneva
@ @ O
Delhi "
e o5 e v (e
The Montreal Protocol was held in

@) Ssvv vwve [
1988

(B} ssvovye [1°

23.

1990

c) sssewrs [
1995

@) ssvavas [
1987

iR SR fia, 20357 7 faw wiike

" The theme of the Human Rights

Day, 2021 was

(o) TEmer [
liberty _

() e O
equality -

e} s [
justice

) siter O

rights

/254-B

24.

25.

~ 26.

i Wi (== 9B
Right to Education is a/an
() “ofRs wlRem [
Civil right
(b) ST Wi [
_ Political right
c) S+fes wiygem O
Economic right
d) eRIdhrewm O
None of the above
‘argpfes SRR A SRR —te
AR smdE afts
‘Natural rights are _hﬂman rights’
—the supporter of this concept
isfare
@) T2 [
Hobbes
() w5 [
~ Locke
(0 = L[l
Rousseau
(@) ¢RA weoEw [
All of them

‘TR TS FEN T YT Y TS

code Pl AR (R 17 TE TR

A e 2
“Man is born free but everywhere he

is in chains.” Who made this
opinion?

@) & @z = O
J. 8. Mill

b} em U
Bentham

) T [
Rousseau

(d) cfemess [
Machiavelli

[P.T.O.



28.

27. witEe Fie eReTts W < W

_ The Simon Commission came .o

India in the year

(@) >s3v Ll

1926
) svxa L]
1927
fc) ssxv 01
1928
() ssas [
1929
S ﬁﬁﬁh'_ﬂﬁﬁﬁaﬁ CEWTCHI
SR 7 ABRAS HEGS TN 28w ?

By which _Constitutional
Amendment was the word
‘socialism’ included in the
Preamble?

(a) sy TR T O
42nd Amendment

(b} 88 AT T L
44th Amendment

() svex e A O
46th Amendment. .

(d) sv@ﬂﬂ«ﬂﬁ%ﬁﬁﬁ{,[]*

48th Amendment

. /254-B

29. SO KRUFR forres  SifewE

30.

ARG (IO SIS SFES P41 (2R ?

Which part of the Indian
Constitution includes the Directive
Principles?

@ = s O
Part 1

m) e O
Part 1I

g =mive L[]
Part Il

(@ e O
Part IV

7'"'5|ﬁ¢§ W\C‘[[ﬁ @15?‘ @!QC‘ET W ‘515 1G]
&% 2

When was the Citizenship
Amendment Act passed? '

() xess Ll
2019

(b) xodv L1
2018

{c) xo3e [J
2020

(d 03z O
2022

31, Jofes  wfdeR ﬂﬂﬁmaa. O]
SERTS e Wi ﬁwmﬁ‘ﬂ@ﬁ@_

wtm:?

nght to Property is included. in
which Article as a legal right in the
Constitution?

() x88A [
2444

b) xeoa [
250A

fc) wooa [}
300A

{d) sooA [
400A '

32. N Gﬂﬂﬁﬁ anﬁ?ﬁl¢ ke vwmﬁ#¢
A e =
Whlch of the following poh’ucal
parties is not a reglonal pohtzca]
party?
(a) wrg 0
AASU
) wRfars O
AIDMK
(c) cecaig o [
- Telugu Desham
@ s O
' AGP
/254-B

34.

~ 35,

TR TRYFI  TIATE  HASH
YATCE (A SRRYAR 29 4% TR S
==

The concept of e;mefgency powers of
the Indian Constitution is borrowed
from which Constitution?

(@) SERIR ARy O
Constitution of America

b} s AR O

Constitution of Germany

{c} FFRERew [

Const_itution of France
(d) e Ry [
Constitution of Canada

T R el Sogent R A
TSN

The power of judicial rewew can be
enjoyed by Indian
(@) T e O
High Courts
(b) Twex wpEw  [J
Bupreme Court
(g RBemem OO
District Courts

{d) TR A T TS

Term [

Supreme Court and High Courts
both -

AR ﬂmaaMﬁ'ﬂw@a#—‘mwm ey

'ﬁhnifﬂ

The rinimum ‘age limit for the

. position of the Prime Minister in

India is

(@ eo O

30

" {b) 8o

O
: ¢ xe 03
O

40
25

{d) ¢
35

[P.T.O.



36. ©EeAfe ‘WOTTT A @ma faq
ATq 7
Who can issue ‘Ordinance’ in India?
{a) TR o [
The Speaker of Lok Sabha

) 98=fs [
The President

(c agee O
The Prime Minister
(d) SeneE [

The Governor .

37. ANFART SRR & 2T TR
EFE 7

‘Right to self-determination’ 'belongs

to which generation of Human

Rights?
(a) oo e [
First generation ~
(b) Ta®m aerg (O
Second generation
o) oI aey [
 Third generation
{d} e GHrewm [
“None of the above - _ :
38. TETRY ‘qfers WW wRemE vmamﬂ
0 few e

The  ‘State Human  Rights

Commission’ was established in -

India in the year

(@ s$sowE [
1990

(b)) say e [
1991

) S»dy e [
1992

(@ ssyevys [
1993

/ 254-B

30, APRE W SRFR P e R

CEFNCH T ol 79 ke 2
Which decade was observed as the

UN Decade for Human Rights
Education?

(@ Ssde—cos []
1995-2004

(b) xeotxovs [J
2005-2014

fc] S»va->5b8 m
1985-1994

@u_éﬂﬁ§~ﬁhs?mm ]

None of the above

@ e #&ﬁﬁ_ﬁHWG SECA R
(a8 Reei9ael pieeiq FroRke 2Rke ?

. In which year was the Convention -
" on Elimination of All Forms of -

- Discrimindtion  Against - Women
signed? ' '
fa) s»oe [J
. 1935
) Svas [
1979
g sswe O
1985
[d) ssse [

1996

41.

42.

UNIT—II)

{ Major Features of Indian Economy )

THq (FL0] NITI OEANR (Fe 05
DEX R

Which of the following is not true for
NITI Aayog?

fa} % “op-down’ “®! SpEa w3 [

It follows ‘“top-down’ approach
(b} ¥ bottom-up’ “€l FPET I3 [J

It follows ‘bottom-up’ approach
fc) 2T AR e O

It serves as an advisory body

(d) I ~IRRe_Romes »[@ Topem
fea = [
It draws membership from wider
expertise '

&8 eraffe siffeamm «fom st
wifRa 7

What was the duration of the
Second Five-Year Plan?

fa) Ssea-wx  []

195762

{b) ShEL-v>
1956-61

1955-60

{d) Ssevr—ve
1958-63

3
(c) S»ee-vo L]
1

A« *fRTae fefe wifem

The Firg.t Five-Year Plan was based
on

(a) @@e-wqE =g [J
Harrod-Domar Model

(o) v =¥ O

" Solow Model

() wawRsaE 0O
Mahalanobis Model

(d) fcea o [
Myrdal Model

/254-B © 11

44, SRS BFA R (L LA
TEFN TR AT ffes wRs
Ffafee] 2 '

Which of the following economic
reforms were initiated by the

Government of India under their
Liberalization Policy?

(o) BTTRR Wi ROy veq i [

Industrial and Financial sector
reforms '

(b) Conie oI IR Yo FE O
Industrial and  Agricultural
sector reforms

c) TR IAF QAT 493 WEFR O

Agricultural and Banking sector
reforms

() @vmﬁﬁ%]'§ﬁ P 'ﬁ@m 49

Industrial, Agricultural and
Financial sector reforms

45, SR @@ﬂﬁh'ﬁw fées AT R
et 2
Which of the following was the
predecessor to the World Trade
Organization (WTO)?
(o) &% wig e e 5 O
General Agreement on Tariffs
and Trade (GATT)

(b) ey yw i O

International Monetary Fund

(IMF)

{c) E%@?ﬂﬁm oA e Rer o
International Bank for
Reconstruction = and

Development (IBRD)

(d) 37T Rom e [
United Nations Development
Programme (UNDP)



46, TION WIS @ 2T WS 2

Which type of economy is Indian
economy?

o s [
Mixed

b) “ferim [l

Capitalist

fc) weam [

Socialist

(@ e e abre 7w

None of the above

47. Rore THHze PRI TS wiFe AEE
AR oFae 13 wheRy
What happened to the number of

people engaged in agriculture over
the years? :

@) 3@ “iez 1

Increased

) g

Decreased

(0 e O

Remained same

(d) @A =of8 @R [
No specific trend

/254-B
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48, T @FWIT S B TeoeTe OINed
[EEk NI
Which of the following States is a

leading producer of diamonds in
India?

(@) weac [

Gujarat

(b} wgzeey [
Madhya Pradesh

(cy 3o [
Karnataka

(@ SR L[]
Odisha

49, TRTY YRR THEG GE I IW

In India, the largest reserve of
bauxite is found in

o) =marere [
Andhra Pradesh

() @saves [l

Gujarat

¢ Fee O
" Bihar

(@) SRmres [
QOdisha

50. UNDPA YT Taae af@m=, 203533
WP SNER W WWE T e
(HDI)y® R 7 .

What is the ranking of India in
Human Development Index (HDI)
according to the Human Develop-
ment Report, 202122 of the UNDP?
f@) >ox U
132
(o) oo [
133
) >es [
134
(d). svo [
130

Bl TR (FFC SINSS T TR BT 19

Y -

Which of the following is the major
source of human capital formation
in India?

(o) oS g [ _
Expenditure on  on-the-job
- training

() P Ll
Expenditure on education

(¢ fay=i oy O
Both {a} and (b}

(d) ¢/7 dore =y ]

ang of the above

52, O (FIH A R IR 7

Which among  the following is a
direct farm subsidy?

{a) 3R oy O
Fertilizer subsidy

.'(b) R 9 rr O

Farm loan waiver

(c) T e e [

Minimum Support Price
(@) TrEREe IR | O

Subsidised crop insurance

/254-B

53. ‘crad R’ we =

‘Golden Revolution’ is related to

() R e A [

precious minerals

() wzeE e [

pulses

(c) et e [

jute

{d) Tmery oF (R aes [

horticuliure and honey

54. I W W& FRE ‘@R L ORI
CRPTTR TS &) [ 2

Slash and burn agriculture is
known as ‘Bewar’ in which State of
India?

) e O

Manipur

o) w1
Meghalaya

(¢ wgaee L
Madhya Pradesh

(d) ofemrg [

Tamil Nadu

[PT.O.



55. Wﬁ@w@wﬂﬁﬁ@%mﬂ

T AR A 2TFA AR NS A0
= |
Industrial  licensing had = been
abolished for all projects except for a
few industries in
@) Sss> e [
1991
(b) Ssus e [
1969
) 2cod v [}
2001
[

{d} %oc4q BIS
2007

56, T (IO @W-W: MSME
(g, Hu wF TEER ) Qg
R @y fen 2

Which of the following banks is

primarily focused on the
development of the MSME {Micro,
Small and Medium Enterprises)
Sector?

@) RB1 [
{p) NABARD [
¢y NBFID [

{d) sIpDBI [1

57. 2 STl G cgmer 41 oafE

The First Industrial Policy was
announced in

fa) sssvrve [
1948

(b) >sevts [
1956

c) sses e [
1964

(d) ssyywe [
1991

/254-B

58, “SIgEm S 30’ SR b T

weRg i

Incredible India 2-0° Campaign was

launched by the Ministry of Tourism
in
fa) >s5> 578 [

1991

(b) o0d wre [ |
2001

(e} xodatwe [
2017

(@) 203> @ [
2021

59. TROT NIRRT “RFENY S S
ficg . ; .
~ 'The final approval to the Five-Year
Plans of India was given by the

(@) aasgicw [

. Prime Minister

(b Red @ o fem O
RBI |

() IR e oA O

National Development Council

(d) Rewgeen O
Ministry of Finance

60. (TN AT ARFeaR ‘o[ Hre’

W aieehl fifee
Which  Five-Year Plan gave the
Slogan of ‘Garibi Hatao™?

(@) ved *weAife Afgsmiz [
4th Five-Year Plan

(b) W i oRwAr [
6th Five-Year Plan

fc) T RS offFaair U

5th Five-Year Flan

(d) e RIE offsesmiz [
7th Five-Year Plan

. UNIT—~1V

{ Basics of Education and Pedagogy )

61. SREFNF mﬁﬂwm

62.

The Iowest level of cognitive domain
is

{a) @[]
knowledge

() e [

"evaluation

fo) e O

receiving

) @[]

understandiﬁg

TR e o 2°F

The broad meaning of education is

fa) W el @ & [
' _ prdiride social eﬁicie-ncy
by Secam e O

life-lorig process

(o =R O

multipurpose |

(@) =R e O

training of wisdom

/254.B s

6a. “frm E@ﬁ? S oF ¥ TR AR

91" A3 FYEE (FICA (%8 7

“Bducation is the creation of a
sound mind in a sound body.” Who -
said this?

- fa} «REsa [

Aristotle

) o [
Plato

(o e O

Pestalozzi

@ feer 1
Dewey

64, T RS SOR CIETRT 42 TAMRG!

&2

What is the first factor which
influences child development?

@ 7| [

Home
(b) e v [
" Peer group |

o Raem [
" School

(@ g [
Mass media

[P.T.O.



65.

66.

w7 gl o 9 Bemm 2

The way of imparting continuous
education is

fa) QST e L

correspondence course

(b) g [

mass media

(o et

distance education

(d) eomm woReERs [

All of the above

21esqTE PP S @1 W XA

The another name of adult
education is

{a) e Fem [

literacy education

(o) e fms O

social education

c) “iReer-colre Pt [

family-centric education

(@) g B O

distance educatidr,i

/254-B° : - 16

67. Y9 MR 2w B9 Tam

The first -stage of human
development is

(@ e L
childhood

b)) FoEsm

adolescence

c} e L
adult age

(@) v [

infancy

68. ORI PIHeS TR T (R T

The technique which helps in
language learning is

() Sefrsa [

microteaching

) em O
-structural approach

() wwo-fes [
skill-based.

(d) Ifesrs L
* individual

. Prea Reme gerl ciegE 299 Bame

The first factor which influences
child development is

@) Roew [

school

) e [

society

(c) s [
family

() am [
peer group

““fimpe) 375 Sferer & AffEReR e
HERE AT IR 1T G IFAEE
@A (fRE 2

“Learning is the modification of

behaviour through experience and
training.” Who said this?

(@) cfpr [
Gates

() Tead [
- Woodworth

fc) «fers [

Thorndike

(@ Fwe O

Skinner

71. FTR& “technology’ *CH wifRez

The word ‘“echnology’ has been
derived from _

(@) T o o [
Greek language

(b} =i oR @ O

German language

{e) T oEN oy O
French language

(@) o emE s O
Latin language

/254-B 17

72, CAIR o FoR5l 7'
The full form of CAI is

fa) Communicative
Instruction

Application

{b} Computer Assisted Instruc-
tion

' {c} Computer Association of

India

{d) Communication Association of
India

73. oo e IR wbRels gwel Fred
e
The most important teaching aid for
a teacher is .

) @iw=on O
map and chart

() WaeR O

"coloured picture
0 o= [
graph

(@ @e (]
blackboard

74, TRES HEI LA

Overhead projector is a/an

() 21 >EE O
~audio aid -
) @ O
_ video aid
(o) P-um g O
audio-visual aid
(d) s sigler [

teaching aid

[ P.T.O.



75. INSET (IB) KGR 1 S 7. T AT N6 2T

. UNIT—V
INSET (IB ted in the ~ Psychological principle of teaching is ' . :
T (IB) was connected 1 ychological principle ol teaching ( Sociology and Indian Society )
' () T ST g A [ |
fa) S»ro IO [ : p.:rinciple of selection of teaching g81. TS Wyl Wl wife IEER  AM¥Es 83. “®fS xR 4T T TR " PUNH (@A
1983 aid J5T? et :
moswsws O ) S tweR AR O Which one of the following is mot & “Caste is a closed group.” Who said
1981 - principle of individual difference eature of the caste system? this?
 sswowm® [} i wra-Freer e O .ﬁ‘ -
' 1980 - principle of self-learning @ L fa) B «=. =1 [
' _ Endogamy B. N. Seal
() sswa v O - ' : (@ amer afe O : _ e
1982 rinciple of flexibili _ '
198 | - pribep v m) s O ) -
' . . ' Hierarchy (b} ‘lﬁ_ﬂ.‘i q I WA
76. The Play Woy (2R Brs2a 79. ‘I (2R CPEER RS 1 Majumder and Madan
The writer of the book, The Play Way T;TIT ?Tfﬁ?d Fecence s the (0 Rederer O |
eri olesce i ' .
' : . repetition of infancy.” Who said Mobility (@ BR®we L
{a} FHEE P (] _ this? : T. B. Bottomore
Caldwell Cook ' ' R
- R (@ GEw [ _ (@ s wgs fap O
) e [ ' . Stanley Hall _ Belief in rebirth (@) %R " O
Pestalozzi _ (b) ' 0 _ _ E. B. Tylor
© Fwm O : Rousseau '
Froebel ' ' o _ .
| _ _ ¢ % O o 82. TR (I WS THRreg oI AW '
@ =g O . Jones i 94 A3 TITRA 91 (2R 7 84. R’ Wbl Y TAMH 2
Rousseau o ' {d) T}‘I[QI | | o In which year was the word ‘We-feeling’ is an essential feature of
' Smith : ‘sociology’ first used? '
77, P oRe «F AR FremE XE . : ' (@) swem [
One type of student-centric teaching 80. ENYTR THPI ST = S (a) swoy [ . :
is _ ' _ - The problem of adult education is 1832 society
(@) g P | (@ wrfEees O | |
* distance learning ' ~ lack of textbook - () swoe L[] v) _ U
B _ ' 1835 community
b ofate O - o) Pregaeem [
competition _ - lack of teacher
o SN fc) sver [ fo &m0
() w01 : . (o TgTI=e 1838 ' association
- discussion _ - lack of innovation _
@) = o - @ {a) =% () O (d >vso [ : : (@ g5 O
project: . ' S Bpth. {a} and. (b) | 1840 State
/254-B s | | | - /254-B - :
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85,

86.

‘e TS o IR/ i tefem 2

Who said “man is a social animal”?

@) aR@% []
Aristotle

(b) w86 [
‘August Comte

s O

Flato

() sowoe [

Socrates

Primitive Culture W99 JAFE  (FlE
e 2

Who wrote

the book, Primitive
Culture? :

{a) SFem [
Tylor

p) ™ L1

Durkheim

() e O

Mazumder

() =l [
Ogburn

/254-B - 20

87, ‘MEweg (LT WG FEPEA
R 1”7 @A i 2

“Sociology is the science of social
institution.” Who said this?

@ B 9% 3= [
C. H. Cooley

) T @@ [
Young and Mack

(¢ T U

Durkhei_m

(@ @ Ll
Weber

88. TEE ‘family’ WO (IR SNEF F
S (R ? '

From which language the word
family’ has been derived? - :

@ T
Greek

p) @ [
Latin

{c) ﬂ&é% 0

Portugtiese

{d) e <bre T [
None of the above

89. P ARAETS FRO1 o GTFA QT ?
How many generations constituted
the joint family?
fa) <51 L]

Five '

@ m O
Two

{c)_t-‘Zl'BT 1

One

@ e O
Three

90. *AfRTe AfS-F T TEERT
- wRgfEs W\ TP 9T |

is a family constituted by
husband, wife and their unmarried
children.

fa) 9o [
Nuclear family

(o) Pwi O

Joint family

) wmREe [

Endogamous family

(@) RERR O

Exogamous family

o1. IS IF UGS

Caste system is based on

(a) IR 2fRfeq eome U
hereditary stafus

(b) Boeled eows [

income

fc) TRregore afefeq esge [
educational status

(d) SRS efgRs some [

economic status

/254-B
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92, W@ﬂﬁﬂﬁwiﬁhﬁm?

Which of the following is the
fundamental feature of a society?

fa) Sg@ sk [
Number of people

) FEes O
Definite goal

(c) Frega

Organization

(d) Tmeead [

Interrelation

03. STE B SRYR uiRfEE

The concept of ‘social fact’ is
~associated with

{a) GRIE O
Weber

b w0

Durkheim

i =mesg O

Parsons

@ O

Marx

94, TR (I TS ER «Br Trmat ?

Which of the following is an example
of a social institution?

(@ <= O
Family

) e O

House

(c) afemm [

Norms

(@ I=Ae ™ O
Political party

[ P.T.O.



95, The Theory of Social Structure <Y
ARG (FHF (TN -

Who is the writer of the book, The
Theory of Social Structure?

(@) @5, 9%, e [
8. F. Nadel

) W@, @ 67 O
R. K. Merton

(c) TERYG “R5E '_ A

Talcott Parsons

Levi Strauss =

06. @ (FCH! wste HfETea B THEA 7

Which one of the following is an
example of ascribed status?

(@ ks O
Priest _

) Gl O
Spldier

e T [
Husband

(@ @ 0

Son

97, TE (PG PR o1 THIRI ?
Which among the following is an
example of a community?

(@) “Rme [
Family

) =@ i O
Refugee camp

(e} Toree vz [
Income group

(@ e O
Village

/254-B

98. WS IREA TH A9 (2=

The basic characteristic of caste
gystem is

fa) el [
equality

(b) s [
hierarchy

0 e L]

equal status

(@) ¥= =g [

open system -

99, TR (IFRH ©NOS (XA IS
- ARIETT T FEE 2

Which is the major factor of social
change in India?

() Rom o egfeflm [

Science and technology

@) wegfe O

Culture
) amedars O

Village economy

@ «f [
_ Religion

100. TN (FWEH oG ‘fie RS

SAYECH] TAIEERE 7

Who among the following
sociologists put forward the concept
of ‘primary group’?

(@ B. 9% g@ 0O
C. H. Coo]ey

() o @@q Ll
Max Weber

fc & @ g O
G. 8. Ghurye

(d) TH® cempa O
Herbert Spencer

101,

102,

103.

UNIT—VI :
.| Geography of India—Physical, Economic and Political )

@S SRS TEI-77 SRS (IAPRIA
G AEACTE SR #157S SRy (R ?
Which of the following States of
North-East India is touching
boundary with Bangladesh?
(o) =, e, feem O
Assam, Meghalaya, Tripura
(b) W, SFATH AT, AaeEme L
Assam, Arunachal Pradesh,
Nagaland :
() oo, wamars, P O
Tripura, Nagaland, Sikkim

 (d) <P, B, g O

Assam, Sikkim, Manipur

SAARCT ¥ 0 918 7 (2R
The total member countries of
SAARC is

@) v [l
{b)
(e}

In
O
(d) O

T VAR ~1o O

ASEANT Y3 FRfery 37 SRfEre 7

Where is the Headquarters - of
ASEAN located? '

fa) s O
Dhaka

m) wwd O
Jakarta

c) Tomg [
Kathmandu
(d) e qore ey [

None of the above

]1254-B . 23

104, S Ruw  TRET @R AR
AT o1 C=fRE 2

In which Five-Year Plan was Blue
Revolution initiated? '

fa) 19N ﬁw AffFmen [
5th Five-Year Plan

(b) T e oiFE [

6th Five-Year Plan

(c) e wegie ofiges O
7th Five-Year Plan

(d) S5 RS ARFEa [
8th Five-Year Plan

105, SRR TEAS BT TYT SRE ¥
tE |

India .ranks in tea export in
the international market.

@ a9 O
_firsf '

m f"ew. O

second

© 381 O

third

(@ ved O

- fourth

[ P.T.O.



106.

107.

w@mﬁ@wﬁwﬁaﬁwﬁ%
A P PRI

Which of the following is the second
highest peak of the Himalaya?

(@ = /s O
Nanga Parbat o

(b) I oS E]
Kallash Ra,nge

(o) oTeRA =g ;t]f~

Godwin Austin

(d) e ahre T [
None of the above

g & PRee =R @A e
SRS ? -

In which of the following States
Nathu La Pass is located?

@ R O
Haryana

(b) ﬁﬁ%ﬂ' O]
Sikkim

(¢ Bea g O
Himachal Pradesh

() Tees O
Uttarakhand

/254-B
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108, WEH] W CEE T SoRm 2

109.

110.

Ghaghara river is a- tributary of
which river? '
(@ =@ O
Brahmaputra.
@ T U
Yamuna
¢ e [
Ganga
(@ =m0

Mahanadi

wofge e oF oRed @ i
Gﬁﬁﬁﬁiﬁ'ﬂﬂﬁ? '
Which is the oldest mountain in
India from the geological point of
view?
fa) T=E O

Nilgiri
i *Fwe [l

Eastern Ghat
e} w@Ea O

Aravalli
(@ s qore w=m O

None of the above

TR (FERE (TR T G 2SR
N=reTe SHTS B 2?2
Which of the following monsoon

wind currents causes rainfall in
summer season in India?

(@) TRva-if5y (NpR Ay eire [

South-West monsoon wind
curt_'ent

(b) TEg-@ (PN a7 e O
North-East monsoon  wind
current

(c) Ted- ﬂﬁ?ﬂﬂﬁ@ﬁ??@gﬁﬂ@ W
North-West monscon  wind
current

(@) -t R oo O

East-West

monsoon  wind
current . '

111, SHES (I 58 TR TP HbH-

IAFNRA?

In which year was the Social
Forestry Scheme launched in India?

@) >saa O
1977

(o) dsae []
1975

fc) ssav [
1978

(@ s»as [
1979

. WA el AW e N TRA

ETS IS 7

Damodar Valley Project is located in
which of the foliowing pairs of
States?

{a) “PvReE S eew [
West Bengal and Assam

(b) 5T e o - O
West Bengal and Odisha

(c) ARG IF NLG2ATT |

Jharkhand and
Pradesh

Madhya

(@) “a=e uF IEge - L
West Bengal and Jharkhand

/254-B
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113. (@S SHOW RSN S500 5 (S

114.

115.

P IME T Cow Regd p
FTH? o

Who is the Indian scientist to
introduce Green Revolution for the
first time in the country in 19637

(@) o @
Dr. Borlau_g_' _
m BB O
C. V. Raman
(c) soghem O
Dr. Kuriefi
{d) Go BN _E]

" Dr. Hassar

caq€®Qﬁmqs Eans%amﬁw (P 5
AN EHS TR ?

~ Which of the following States ranks

first in wheat production?

@u'ﬁﬁﬁ O
Bihar _

() &en
Kerala -

fc) “Foagm [l
-West Bengal

(d) Tegeeey L]

Uttar Pradesh

I BemTe oRed ¥ RN fooTe
]

India ranks in

production in the world.

cotton

(@ 2z [0

fixjst

(p) "ew O

second

© & O

third

(d) e ors 7= [l
None of the above

[ B.T.O.




116.

117.

RO FWAE T TG TR T

LN
Which State of Indla produces
highest quantity of copper?

.{a) s&pas [

Chhattisgath

() T oo

Tamil Nadu

fc} wgzoer L .
Madhya Pradesh

(@ s O

Kashmir -

SR R TS BIRGT T

e erms Rfs R o R <@

TSN T T e |

Write the correct sequence of 'four_

refineries in Assam from oldest to .

new one based on its year of
establishment.

(o) I, Serhe, TR, R 0

Bongaigaon )
118. T[ESF AYNCHI @aﬂm{iﬁww
& yfer a1 o _
The first railway line of Indla from
Mumbai to Thane was first opend on
(@ Sv qfeE, svao v [
16 April, 1853
(b} 38 %@, Swav o [
14 June, 1858
) > @, swes o L
1 May, 1854
(@ @ ER, svee vve L
5 July, 1855
/254-B

Noonmati,
Numaligarh, Digboi

) oo, s, weehs, gl O

Digboi, Noonmati, Bongaigaon,
Numaligarh

fc) fosita, spuferere, wifG, %ﬁm O

. Digboi, Numaligarh, Noomnimati,
Bongaigaon

() e, T, s, a@i@m N

Numaligarh, Noonmati, Digboi,

"~ Bongaigaen, .

26

119,

120,

._(_c). Wmﬁtﬂmﬁ@ﬂﬁﬂw s O

Tea-d AN (T e 4 IRfem

ALK

Where is the
North-East Frontier Raleay Zone

_ located?

(a)i%ﬁﬁm O

Tinsukia

' (b) Fesre [

Bongaigaon

| .(c_} ~wfasre L

‘Maligaon

() CTNEE (|

Gorakhpur

Ww@%ﬁﬁmw

7

By which name the Intematlonal h

A1rport in Delhi is known?

() ar@ﬁ B W@:ﬂ@? R O

Maratha International.

‘Shivaji
Airport

{b) m—t@lm‘q’ﬁw@ﬂﬁw

Netajl Subhas Chandra Bose

International Airport

Indira
AJ'rport

Gandhi

(d)@ﬂ%ﬁw«mww@ﬁ.
R T :

Lokpnya Gopmath Bordoloi
International Airport

Headquarters of

International

121.

122,

- UNIT—VII
( Tribes of India and Tribal Development )

G EpTS (RN T T

The cause of tribal displacement is

(@) 2R R s O
initiation of

development
_ projects '

() A e [

construction of big dams

(o st O

construction of roads

(d) /] =iRcessr [
All of the above

x05y BN (HRPRE SEEE weime
T T TEe G SR ? ¥

What percentage of population of
Assam are tribal population as per
2011 Census?

fa) 2w-e% [
28-5%

b)) >38¢% [

12:45%

fc} oex% []
352%

d) >»98% [
19-34%

/254-B
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123. (BIOPIFa (FITA T RIAF 7

124.

To which State do the pastoralist
Tedas belong?

@) s O

Assam

(v) g O

Tamil Nadu

(¢ i O

Goa

{d) Teerry [

Uttar Pradesh

AT YGRS TIed G 279

The largest tribe in India is

fa) S [
Bhils

w) e O
Urang

fe) acer [
Bodo

(d) e =g gore wm [
None of the above

[P.T.O.



125. SO GG SPTA 2 e ?

Which one of the following is the

largest tribe of Assam?

@ T L
Bodo

m o [

Tiwa

¢ ffg T
Mishing

(@ o [

Dimasa

‘Tw R’
/oS ?

Which tribe
‘Bhil Revolt™?

126.

related with

@) wor L1
' Munda

) ¥a
Bhil

i TR [l
Urang

(d) e 3 vhre w2 [l

None of the above

/254-B

e ran BT | s I i)

the

28

127. SHEN JORG TEwI (T T8 TS

128,

afeE 2
In which year

Anthropological Survey
established?

was the
of India

@) ssse L]
1945

(b} svex O
1952

) s»ex [
1962

(@ sssv [
1948

PTGA 32 TR0 2’9
The full form of PTG is

{a} Prominent Tribal Group [}
(b) Primitive Tribal Group LI
{c) Patent Tribal Group L]

(@ e e O

Nene of the above

129. TR (FIHIE I e So-4ReEas

130.

131.

(TSP) Sg$® 727 7 ,
Which of the following States is not
included under the Tribal Sub-Plan
{TSP)?
@) =™ [

Assam
(b) s=AG []

Gujarat
i) @ O

Karnataka
(d) e 0

Punjab

TR (I weifers g Ao AvS

Y 2

Which of the following tribes is
associated with Jhum cultivation?

(@) T [
Tiwa
) IR [
Karbi
) T O
Bedo

(@) eRT SEces [}
All of the above

T (TS A4FNE ‘oneRE 'S
FoS WS ?

Which of the
Ministers is
‘Patichsheel’?

(o) "= @[]
Narendra Modi

(b) wEEReTE cieee
Jawaharlal Nehru

fc) l?ﬁf_ﬂ s [
* Indira Gandhi

(d) €7 qome =y [
None of them

following Prime
associated  with

/254-B
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132, SEI ARy T Traenzd

133.

134,

*i ReriR Bfevear |

Find out the characteristic of tribes
from the following.

(@) aLATER TRy [

Economically advanced

(b) F=F-gE Gawew [
Simple way of living
(c) T se~gfos wfE Fmm O

Existence of unique culturai
features

(@) (o) (o)t [
Both (b} and (¢

TABIFERE (P T TS 7

Apatanis are the tribal people of
which State?

fa) Tfem [

Manipur
(b) PR [
Sikkim
{c) rpaoet g [
Arunachal Pradesh
(@) feean O

Mizoram

x0dy B @Rt SRl tet-om
THGT GREI] o9 T9 29

The percentage of tribal population
in North-East India according to
2011 Census is

f@) 2ax3% L[]
27:29%

(b} wxv% [
29-28%

f¢) xva3% [
26:'71%

(d) 2ex2% []
2527%

[ P.T.O.



135.

136,

137.

@ Awails  ofResEe
Sub-Plan’ #fe%1 w47 2f2E ?

In which Five-Year Plan, was the
Tribal Sub-Plan’ launched?

(@) oo AR AResme O

First Five-Year Plan

(b) 39 e «fRewre [

Third Five-Year Plan
() o= i ARgwe O
_Fifth Five-Year Plan

(d) s e O
None of the above

“Tribal

TSNS RH1 “‘Particularly
Vulnerable Tribal Groups’ fo-re ¥4I
—?

How many ‘Particularly Vulnerable
Tribal Groups’ are identified in
India? E
{a) a8 [

74

(p) av L]
76

{c} ac (!
70

(@ e L]

75

(@R 7% the Ministry of Tribal
Affairs afo9 531 (fem?

' In which year was the Ministry of

Tribal Affairs set up?
fa) s»»s [
1999
() >»»r U
1998
fc) yooo [
2000 .
u

(d) xo0x

2002 -

/254-B
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138, TEIW SR O ~{faE T; 2

139.

140.

Who is the present Minister of Tribal
Affairs?

{a) <z L

Narendra Modi

(o) =i ger U
Arjun Munda

c) wfmgeq O
Dharmendra Pradhan

(@ sfis=z [
Amit Shah

RGO AT SFEOFR (I

AT TS AR (2 ?
In which Five-Year Plan was the
Integrated  Tribai  Development
Projects (ITDPs) initiated?
(@ e [
Seventh
) wey [
Eighth
(¢ <% [
Fifth
@ = O
Sixth _
Ay ofRadq Sipl 4¥w W8 W

The National Extension Scheme was
first initiated in

fa) Ssexvs [
1962

(p) >veowe [
1953

0 sseasws [
1957

(d) ssexvve [
1952

UNIT—VII
{ Logical Reasoning and Numerical Ability )

141, (FICN 9F I 40%T 60%F 32%F

142.

143,

WA 432, TR SREE 7T

40% of 60% of 32% of an amount is
432. The amount is

fa) 5625 L1
{b) 6525

(c) 5652

O 0 0O

{d) 5265

3 B W% FIOR =, CARTRN
QR T |

If loss is —lé of selling price, the loss
percentage is -

fa) 15% L[]

(b} 25% [

fcj 27% L1 -

{d) '17%'. [

31

144, 7 8a = 9b, (3 2w %ﬁ AT 24

145,

If 8a = 9b, t_h_eh the ratio of % to % is

@ 1:2 L[]

b 2:1EF -
© 2:3 [
@ 1:1 O

100&.%@14@60%&%

- g%re sifs 99 | '3 140 [, M@ R 99§

wfeaa F{ata 7 =R

A 100 m Iong train is going at a
speed of 60 km/hr. It will cross a
140 m long bridge in
(@ 144 @ss [
14-4 .gec
() 124 (gFe O
12:4 sec -
() 15 csa [
15 sec
{d) 10 g [
10 sec

146. *FE (TS T TS WA CFRI

=l
All - natural ‘numbers
together called
(@) wee e O

- integers
(b} e oryn O

rational numbers

fc) =t O

whole numbers

and zero

(@ a0

even numbers

[ P.T.O.



147. logz27-logp2 ="
{a)ll o
b} 2 O
i 3 [l
(d 25 [

148, Ane=
@ A O
) A Ll
c ¢ [
(@ ¢ Ll

149. x2 - Sx+6= 03 AR XTI

Roots of x2 —5x +6 =0 are
@ 2,3 (1
M 1,2 U
1,3 U
@ 3,4 O

150. 5:a: 20:28, (58 a4 T T

5:au20: 28, then a is equal to

(@ 6 O
w8 O
fe) 7 0o
@ 4 [}

/254-B
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" 151. iﬁwwﬁaﬁﬁmfﬂtw‘{bﬂﬂ

152.

153.

@ﬁ@%ﬁ%ﬂﬂ@ﬂﬁ%ﬁ@i’ﬁ

Two dice are tossed. The probability

that the total score is a prime
number is

@ = O
® & O
@ = O
@ O

D 47E UES SEga o9 TIT 2,000
B 2226-05 5F = | 54 2@ TR

#2,000 becomes ¥2226:05 in
2 years at compound interest. The
rate of interest is

@ 5% [l
b 6% [
¢ 45% O
(d) 55% O

R A TS G T 15'«;@—1?5%

ST, AR

- The raté at which a sum becomes_
three times of itself in 15 years at'

simple mterest will be

(@ 15% - L1 .

(b} 18% [

(¢ 20% [
O

(d} 12%

184, A G 5 FIH 12 a9 @ | B, A O

165,

156,

60% TR | B @ SCA R FWH!
af4alel o %'

A can do a certain job in 12 days. B
is 60% more efficient than A. How
many days does B alone take to do
the same job?

fa) afm [
7 days _
) atfin [
7% days
() v fim [
6 days
@ efm O
5> days

305 O 3209 ST XY T wm,
e difs, 29

The number of integers between 305
and 320 which are prime is

) 2 [
) 6 [
¢/ 5 O

fd) 4 O

0<x< 193 St cannirc

For 0 <'x < 1, which of the following
is greatest?

@ 0O

b x O
(C)—2 L

(@d@.x2 O

/254-B Z 33

157,

158,

159,

160.

457261 79 29PF W+ 34

The face ‘falue of 7 in the number
457261 is

@ 7 O

) 7000 [
{¢) 1000 [1
(d) 7261 [

alizlicioloi32v mumaa
2 6 3 5

The value of x in

4l+31+x+2}—=132i
2 6 3

@) 3% 0O

1
(b) 35 [

(© 2% 0

() 3% 0

6000% 12% WH

12% of 6000 equals
(a) 600 [
() 720 0O
¢ soo LI

(d) 360 O

6 951 <1 e Rt e 2

What percent of a day is 6 hours?
{aj 12%
b 20%
{c) 30%
{d} 25%

ooo0

[ P.T.O.



161.

162.

UNIT—IX
( Commerce and Management )

wERmRes PR SeiEfee i
Fafimce Tl 4o oS SRRAfe Je9
mi’.ﬂ . S .

In absence of partnership deed, the

rate of interest allowed on the -
partner’s loan to the firm is

@ 5% Ll

) 6% [

© 10% [

(c) e tre 7

None of the above

1 1A T T T TR

A company can reissue its forfeited
shares '

() Rfams [

at a premium

fb} a1 TR O

at a face value

¢ crizys O

at a discount

(@) <R3 woReeRs O
All of the above

/254-B - B4

163.

164.

Ind AS 7 5 @2

Ind AS 7 stands for

fa) s9-=fe L]

inventories

(b} W RS Ry [

statement of cash flows

() TR O

employee benefit

(d) R <orewmy L

None of the above

FSSAT 77 T451 29
The full form of FSSAI is

{fa) Food Security and Statement
Authority .of India

(b) Food Safety and Standards
Authority of India [

' fc) Food and Safety Standards

Authority of India [

(d) @ aBis T )

None of the above

166. RBR REo1o-FFa o FpTR 2'd

The basic function of financial
accounting is to

(a) FE_TENRE  GEOE EYRE
s [

record all business transactions

(b) REm R I - [

interpret financial data

(c) TWOTR  FALTERA T FAS
AReEER =R w1 O

asgist the management in

performing functions effectively

{d) e<T ahre w=mm [
None of the above

166, SR FWCO SEAIS Tl 7924 2

Which of the fellowing is not an
intangible asset?

fa) ReEcma O

Investment

) T 1
Goodwill

fc) FPREE O
Copyright

(d) cofoos siges O
. Patent right

/254-B .
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167. {201 %R TR XH

In accounting, errors are

@) @wmge [

undetected mistakes

(b) TEFeST@ T g O]

_ intentional mistakes

fc) emen [

frauds

(d) sEgee s es O

unintentional mistakes

168, wo% fa @WCh o fRAfen Roer-fer
NS ozt 1 =W 2

In which area different accounting
policies are adopted?

(o) -7 o [

Valuation of inventories

_(le' Rfvcmsm o [

Valuation of investments

(c) s [

Depreciation

(@) s7&q oiRgen [
~ All of the above

[ P.T.O.



169, WeH @™AMR AR REera aE
weidE IW FAN A LA

Heavy amount spent for the
advertisement of new company’s
product is

f@) Iz [l
revenue expenditure

) Rere ez O

deferred revenue expenditure

() e [
capital expenditure

(d) = (o) (o O
Either {a) or (¢)' '

170, 9 RAae Tgre AR/ 79
' A trial balance chgcks
(a) S weres e [

the valuation of closing stock

(b) woifea e [

the valuation of assets

(¢ cwa e [
the valuation of liabilities

(d) TEore-fems 9239 sififes wiseer [

arithmetical accuracy of books
of accounts

171. <51 Qy Afdrm FeEeved TS
= | |

In a joint stock company the Board
of Directors is elected by

(@) vRI AR O
the government

(b) SRR vl []
the shareholders

(c) sRrReam O

employees
(@) e e T O
None of the above

/254-B

172. s ST

173.

174.

In a limited partnership

(@) TCa SR wERee Aifs [
liability of all the partners is
limited

(b) T®S; T SRAMINS Al

HiRE, SwEes, e wﬁr_j]mw '

e i 2'3 2|
liability of at least one partner is
unlimited, whereas, rest of the

partners may have limited
liability _

() & AMME e A
waeel SmEe [l

liability of all the partners,
except one is unlimited

(d) & qore wem [
None of the above

TP F0 Y R
Amortisation refers to writing off
{a) Tif6 wer w5 ]

depleting assets

) e s O

wasting assets

0 wpp =it O
intangible assets

(@) T seofs L

fictitious assets

TRGY TZT5 <1 i

Depreciation is the process of

(@) Fifes Baaamie e wasa [

allocation of cost of assets fo the
period of its life

() o Qs L

verification of assets

(c) |y O

assets valuation

(@) e e L

decreasing the value of assets

175,

176.

177.

welq (@RICHI curstTEaTel 2ifdFaR BT Bommm
7

Which of the following is not an
clement of the communication
process?

fa) e [
Decoding

) o=E [
Channel

i s O
Communication

(@ #=e O

Receiver

el b ﬁl‘ﬁ b1 w2

Loans of public enterprises are a
part of

f) Ay O
capital expenditure
() gy [

revenue expenditure

(c) (@)= (p)gaity. O
Beth {a) and (b)

(d) e Qe [
None of the above

EF T R WA (FAC YOS
T :

Accepting of deposits from public in
case of a private company is

(@ 1T
prohibited

(b) sreAss O

acceptable

(¢ WRm O

restricted

() e e [

None of the above

/254-B | | 37

178. e s @ 9 comn =2

Own funds are called

() wrig i O3
debenture capital

) w1 Ee [
share capital

(¢ wyw O
loan capital

(d) sq ahre sy L] -
None of the above

179. i SF onR M@ 2°F

Receipt and payment is a summary
of

fa) s S [
income and expenses

b) Tl ofes o om ]
cash receipts and payments

(c) Rfew e Borr Sga [
balances
accounts

of wvarious ledger

(d) e whre e O

None of the above

180. «R5ETe 3% @eg fmr =17

In difection, who is given
importance?

.(a) WW O

To machines

{b) FAG] PG O
To paper work

() W O

To man

(d) Teoqmee [
To production

[ P.T.O.
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1. oo Frmaem Rt Tes i 1x8=8
Answer the following as directed : -

{a} Politics T¥q. AT (IF (P19 2

Who is the ‘author of the book,
Politics? -

P23/111 { Turn Over )



(2)

) TR TS e qreAfes aidt 1 Sfedsr

(c)

(d)

(e)

P2

“Man is a social and political
animal.” Who said this?

Modern Political Analysis - 99 2%
T (FI ?

Who is the author of the book,
Modern Political Analysis?

‘SR AR SRR g o e e
eI AT SR (7R
qecAes og I SfBm IR

“Political theory is the critical study
of the principles of right order in
human social existence.” Who made
the statement? |

ﬁ‘f‘I_@ﬁ 3@1@ ety ‘Democracy BT
AR “9 Wik 2

‘From which l_anguagé has_ the word

- ‘Democracy’ been derived?

P23/111

{ Continued )

(g)

P23/111

(3)

ST TR oS ¢RIt FEeel 17

oteniar

“Liberty is the opposite of

over-government.” Who defined it?

i) B
Secley

(i) . <5, 99

- J. 8. Milt

(i) coeaA
Gettel o

( o ool 91fe Bfere) )

( Choose the correct answer )

A Vindication of the Rights of Woman
A AR (oA aifie Cafke 2
In which year was the book, A
Vindication of the Rights of Woman
published? -

(i) Sa5% 57

- 1792 '

(i) Sase BT

| 1793
(iii) >a>8 TS
1794
(o B! M Tforsa )

( Choose the correct answer )

| (Tum Over }



(4) - S | (5)

(h) A Theory of Justice T T (T ' 3. TG ﬁi?.am’?w o ¥ QFEPER

&7 | AT 9 | _ © 4+8=12"
Who is the author Uf_ the b.ook,. o . What - is politics? Discuss fhe basic
A Theory of Justice? . characteristics of political theory.
2, wwe WAARs T Teq ol 4x4=16 o &3/ Or

Write short answer of the following : o - TSGR I W{ﬁ?ﬁ ‘ g@@@q - |

(a) oo T R s 9B g e - e S RS R e v 12
Memig,n two merits and two demerits o Discuss the subject matter of politics in
of democracy. - S the light of traditional and modern view

S : : S of politics." S
(b) FEHEE AEE CIF AEEE FEAMOR __ o | - o
- B! N | I 4. oo e il e TR TETR

. Mention four differences between e L : - '4+7=11.

positive liberty and negative liberty. _ | Define democrgcy, . Discuss  the
_ o \' - _ ' conditions for the success of democracy.
(c)'_'w@aﬁw@wmhﬁﬁf%zmw; : |
Mention four features of .._'.l'iberal
feminism, ) '

o<t/ Or
o . . %mata%as ﬁmw.@m?'mﬁtﬂ% SITSEI .
(@) e e Roile e ot o o Sk SR U LA

What is liberal democracy? Discuss the

Write four differences between citizen _
fine ' basic principles of liberal democracy..

and alien.

© P23/111° . (Continued) P23/111 | ' {Tum Over)



P23/7111

(6)

5. I WRTR 91 @ 2 o WA R oo

1 [ e 3+8=11

What is human rights? Discuss the three
generations of human rights.

WL / Or |
| AGRAE R Tl qm Wi
CAPBPTR CeTEa <541 1 - 4+7=11

Define’ multiculturalism. Discuss the
characteristic of multiculturalism,

TG AP aFR WEE feiR fe
YRIPTE, ST 941 | 11
Discuss the basic assumptions of

Marxian approach regarding the nature
- of State.

w3/ OF
Aol e ez oy | 98 W RS ST
MAFPRR AT 3 | 4+7=11

Define  civil - society. Discuss the
differences between State and civil
society.

{ Continued )

(7))

. wftafes Ramm Ty wnfEs R wneemon w001 12

Discuss the Marxist model of economic
development.

ueq / Or

oty Fore & qen 2 wgfe Pore owafiem

AHEATSR 7T A R[4 I Saraeem |
_ 4+7=11

What do you mean by censorship? Put
forward your arguments in favour and
against of censorship in modern times.

¥k X

P23—7400/111 1 SEM TDC PSCN ({CBCS} DSC 1
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- 1. oo MARART Frotae® Tes far ~ 1x8=8

Answer the following as directed :

(a) ‘iz fefe W= smieTe R
CI-2PPH | SR (RO el 3913 2pe
IR 17 G T Qe 2ol 2
“Public Administration is detailed and
systematic application of laws. Every
particular application of law is an act
of administration.” Who said this
statement?

P23/298 | ( Turn Over)



- (D)

()

(2)

‘POSDCORB’ * "7 THHEF (1= 2
Who coined the acronym ‘POSDCORB’?

i) <=, . @3RG / L. D. White
fii) VT @™ / Luther Gulick
(it} SFT® / Simon
fiv} @S / Goodnow
{ wa Serdr T v )

( Choose the correct answer )

(-2 PP 1 7
Who is the father of Public Administra-
tion?

(d) SR - S eifeer Lafee

P23/298

The Indian Institute of Public Adminis-
tration was established in

() Ssexy W9 / 1952
(i) >»¢8 IS / 1954
(iii) Svav 7S / 1956

fiv) Ssvo 575 / 1980
(wm%w)

{ Choose the correct answer )

{ Continued )

(e)

(3)

G (FCOT REIFIA FER G5 TR 72 2

Which of the following is not a function
of staff agencies?

(i) AR
Planning

(i) <" Wi
Advising

(i) S

Consultation

(iv) TS TS (@Al
Achieving goals
{ o SECH! e 39 )

{ Choose the correct answer )

(RN @R SR R

The term of office of the Union Public
Service Commission is

fi) ¢ 9= / 5 years
fii) ©I=g / 6 years

(i) vIF | 8 years

(ivj >0 I / 10 years

P23/298

(= e R )

"( Choose the correct answer }

{ Turn Over )



(4)

() SRS @ 949 Reams o Reaws =0
=y, (P iR 7

Who determines in India whether a Bill
is a Money Bill or not?

(h) SHTS fFuge WF AYAH AT QA

foefs e ?

Who appoints the Comptroller and
Auditor General in India?

2. woe MRy afedr Ram Yeo =3 fovts o :
Ax4=16"

Write on the following within 150 words
each ;

o) CIF-LHIPTR 23S |
Nature of Public Administration

(b) 30 TR T

Functions of the Chief Executive

{c) TTEReT CIEel AfeT PR
Demerits of the Seniority Principle of
Promotion '

(d) eSS AR UCAEATST

Importance of Morale in Administration

P23/298 ' { Continued )

(5)

woTs TARERa 2fethR ey aoo 1 Toess four -

Answer the fdllowing within 500 words each :

3. @F-PPE FF QAA? TCAS REER TS

- GF] SO F97 | 4+8=12

What is Public Administration? Discuss the
importance of Public Administration to the
study of Political Science. '

o7/ Or

T (ISP T QAT TS (AR~

MR 3fezm 3¢ T 1 4+8=12

What is New Public Administration? Describe
the history of growth of New Public
Administration.

4. WWW—@WWWI 5+6=11
Discuss the merits and demerits of scalar
pI‘OCCSS. )

54T/ Or
TP s 1 (10 2 STl faE CAERTR I

- 9l 3+8=11 -

What is Government Corporation? Describe
the characteristics of Government Corpora-
tion. '

P23/298 { Turn Over )



(6)

(7))
5. oOPF AP TR R4 S SpRarER. oRliEo
4T | 5+6=11 _ w47/ Or
Evaluate the advantages and disadvantages A R4 g FCETSAREE SEs 4 ¢ 11

of direct recruitment method.
Critically discuss the Lokpal Bill.
w3/ Or

@ER EREE IR IS WE SHEA weAna ' Hook A
0 ' 11

Discuss the powers and functions of the
Union Public Service Commission.

6. T o Tfeoryr Rosme ) 11
Analyze the basic principles of Budget.

e/ Or
SR B AR siow, TSl T IR Sl
il ' 3+8=11

. Discuss the composition, powers and
functions of the Public Accounts Committee.

7. ZHPC YR SR P QRHA ? SFPIHET
Tizzed i o w9 | 3+8=11
What is people’s participation in adminis-
tration? Explain different types of people’s
participation.

pP23/298 _ ~ { Continued ) ' : .
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